| 210-212,210-311 | 412 cvrrrrerererisnmsnssnsesnsssnrsneans seiisilszangn

AsHALNAANANTSH ﬂ‘H’Iﬁ 2

%uit 26 funAu 2552
32h 210-212, 210-311

Network and Linear Systems Analysis

AWIINEFAAIVANUASTUNS
AanLFAcNSsSUANANS

dszaniln1sdinun 2552
van 13.30-16.30 u.
wavsau S102, S203

fanusin
dagauyafififonun 9 da 7u 12 wih mmsazavfauasiavin
asviiagausnaanufiad Lisuduvdalszanvauduly

ayga birdedasdnauasiadadsunnufadiviasgauld uwsliayaalv
nilsdaviaanarslaqudinviasaay
ayanailiddudgavialhnngmdunisiiiaudinau

1.
2.
3.

4.

rjaandadau : wA. §uns Hafauled

%ia 1 2 3 4 5 6 7 8 9 593
L 15 10 15 10 10 15 10 10 10 105
16

fia

siialszandin

1/12




[ 210-212,210-311 | fia

Laplace transforms of simple time functions

Function 6] F(s)
Unit impulse 5(1) 1
Unit step u(t) 1/s
E . 1 e—at 1
xXponentia .
P s+a
: ®
Sine sin®t Ty
S"+m®
S
Cosine cosmt -
s“+o
—at - ®
Damped sine e “ sinot T
(sta)y +o
Damped cosine e cos®? S +2a .
(sta)y +ow
Unit ramp / 1
§2
t-multiplication exponential te™™ b )
(s+a)
. 4. . n-1_-—at 1
Repeated z-multiplication r e S
exponential (n—-1)! (s+a)"

" Defined fort>0 ,f (£)=0 for ¢ <0.
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Some properties of the Laplace transform
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